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Question Number : 1 Question Id : 40503610856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Using screw gauge of pitchg&&m and
50 divisions on its circ scale, the
thickness of an objc-c&'i&measurod. It
should correctly bc&@&rdcd as

Options :

2 12
40503639501, =123 €m

Y 1
40503639502, =124 cm

40503639503, 2125 cm

I~

40503639504, 2121 cm

Question Number : 1 Question Id : 40503610856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503639501, =123 €m

40503639502, =124 cm

40503639503, 2125 cm

Q
Q
§<\

40503639504, 212Lem &
\Q(b-

@Q

$»

Question Number : 2 Question Id : 40503610857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No.Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A charged particle carrying charge 1 pC is
moving with velocity (2; | '5), | 4;(3
ms~ L If an external magnetic field of
|57 +37 —6k) x1073 T exists in the

region where the particle is moving then

—_

the force on the particle is F x 1079 N.

g
The vector F is:

Options :
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030i + 0.32j — 0.09%

40503639505,
40503639506. 3.0i + 3.2] — 0.9k
40503639507. 30i + 32j — 9k

s0503639505, ~ 3001 + 320} — 90k

Question Number : 2 Question 1@503610857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Sin ine Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong

Wmﬁﬁwﬁr@ﬁlmww%

27 4 3 |4H ms~ 1 Y TA @ | AT

F0 3 H TG (57 43 6k) x 1073 T
F R G4 T 9 F W A el g

Fx 102N 81 F S35 ? :

Options :
-/:‘ ’)f': L_z.
10503639505, — 0301 + 0.32] — 0.09%
3.0i + 32j — 09k
40503639506.
A ?_al_ A
40503639507,  ~V1 1+ 32j — 9k
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40503639508, ~ 2007 + 3207 — 0k

Question Number : 3 Question Id : 40503610858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A block of mass m=1 kg slides with
velocity v=6 m/s on a frictionless
horizontal surface and collides with a
uniform vertical rod and stickS\to it.as
shown. The rod is pivntecgf%nut Orand
swings as a result of ﬂmr@%ﬁsinn making
angle 6 before momeng@rtily coming to rest.
If the rod has maeﬁ)%{: 2kg, and length
=1 m, the value of 6 is approximately :
(take g=10 m/s?)

Options :
40503639509, 49°

40503639510, 20

40503639511. 65
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40503639512, 69°

Question Number : 3 Question Id : 40503610858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

lkgﬁﬁﬂ'ﬂﬁ?ﬂﬁﬁmmvzﬁmﬁﬁ
U uw Tiu-ed fas Oae W 9d g 0w
THEHH FE B Y TR 2 SN TH W
farF o g (I SE) | BTOWMIM T
¥R 39 THHT F R THEL Fo0d SRETR &
foTa1 %ah | 9= 0 07 STl IS
ZEMA 2 kg #HT T4E 1 al 0.1 T
T E : (g =10 m/&
o $
M, 1

Options :
40503639509, 49°
40503639510, 2

40503639511. 65

40503639512, 69°
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Question Number : 4 Question Id : 40503610859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Moment of inertia of a cylinder of mass M,
length L and radius R about an axis passing,

through its centre and perpendicular to the
' \
2 | [2
4 P
If such a cylinder is to be made for a given
mass of a material, the ratio L/R for it to

Options : | §Q\Q®
S

Q
40503639513. V2 @Q\
Q

R

'
axis of the C}-'Lindr_-r is I=NM ‘

have minimum pnssihlr:- Iis:

40503639514.

40503639515. V2

40503639516.

Question Number : 4 Question Id : 40503610859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T F (cylinder) F% ¥ 29 9 A1 31
=9 % A% & o Ead U 318 & o 9o &

S [ = M

=1 =99, R THS1 541 31 L S o=
€| Afs U 53 gu s=aqH o foardt el 9w
e S W @ THE JSEy &+ gAaH
H F fad L/ R 1 S99 20

i
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o -
b= | ¥ <@ M e
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Options :
3

u/; ‘(\Q®

40503639513. V< §Q§
\Q‘Z}

2 N
40503639514, 3 $

2
40503639515, V3

40503639516.

Question Number : 5 Question Id : 40503610860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A satellite is moving ina low nearly circular
orbit around the earth. Its radius is roughly
equal to that of the earth’s radius R,. By
firing rockets attached to it, its speed is

instantaneously increased in the direction

of its motion so that it become \JIE Hmes

larger. Due to this the farthest distance
from the centre of the earth that the satellite
reaches is B. Valueof Ris:

Options : Q
g\

40503639517, e S
©
@Q

2R, @

40503639518.

40503639519. e

2.5R
40503639520. &

Question Number : 5 Question Id : 40503610860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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mﬁﬁmnﬁrméﬂﬁmﬂﬁg T =@l

<t ST &1 S FR0 YA F e H STUE h
AFTH AR AT EI R FTHAE :

Options :
40503639517. IR ®
Q
g\
® S
40503639518. e Q)
N
@Q
4R,

40503639519. ¢

2.5R
40503639520. 2

Question Number : 6 Question Id : 40503610861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pressure inside two soap bubbles are 1.01
and 1.02 atmosphere, respectively. The
ratio of their volumes is :

Options :

40503639521, 08+ 1

40503639522, 2:1
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40503639523, 471

40503639524, 51

Question Number : 6 Question Id : 40503610861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A % IHT | =1 51 Goadell & L FH 3414
FgAvEA & gaE 9 FHA: 1.01 aﬂgsggjz T

SR 2 | 59 Tl & AR EUIE
Options : (§’
08:1 &
40503639521, - E§§s
40503639522, 2:1
40503639523, +°1
40503639524, 51

Question Number : 7 Question Id : 40503610862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A balloon filled with helium
(32°C and 1.7 atm.) bursts. Immediately
afterwards the expansion of helium can be
considered as :
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Options :

40503639525, reversible adiabatic

40503639526. reversible isothermal

40503639527, reversible adiabatic

40503639528 irreversible isothermal

Question Number : 7 Question Id : @03610862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Singl e Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Mq@: 1
T M=K d 99 T3 ] FIHE
32°C, T 1.7 IR T H-AE |

& e AN e € A Fed 9o AE T
R e = T

Options :

10503639505, T G (reversible adiabatic) ¥
wfadt AHATI (reversible

40503639526, 1sothermal) ¥

A IIHT S (irreversible adiabatic)
40503639527 €|

sfauda gHardta  (irreversible

40503639528, 150thermal) 3
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Question Number : 8 Question Id : 40503610863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=

rd *,
(8] 0

Consider a gas of triatomic molecules. The

molecules are assumed to be triangular and

made of massless rigid rods whose vertices

are occupied by atoms. The internal energy

of a mole of the gas at temp{:\i@e s .
Options : §2§
40503639529, RT ¥

40503639530, 2

40503639531, 2

ka2

40503639532.

Question Number : 8 Question Id : 40503610863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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;'{7'?)

e SupEti #1 v T At F o)
i e & € o1 I8 9 o 9 &
S5 A F=9A Ued S99 (rigid) 991 9
SrETE E | 59 I H a9HE T W UE Hie Hi
A Fal 2

Options :

40503639529, SRT

~ S
40503639530, 2 N
\Q‘Z}

. Q

o oS

—RT §
40503639531, 2

3

hic 5

40503639532, 2

Question Number : 9 Question Id : 40503610864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A uniform thin rope of length 12 m and
mass 6 kg hangs vertically from a rigid
supportand a block of mass 2 kg is attached
to its free end. A transverse short wave-
train of wavelength 6 cm is produced at the
lower end of the rope. What is the
wavelength of the wavetrain (in cm) when

it reaches the top of the rope 7

Options :
40503639533, 6
N

3 N

40503639534, - P
QO
&

9

40503639535, §§§§

40503639536. 12

Question Number : 9 Question Id : 40503610864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T THTHA Toell TH fS9l o= 12 m
R TH9M 6 kg T TR T2H T € 3R
THF el f W 2 kg 5=99A #1 U @S
AEHI T2 | THF el il W6 cm T2
i T FHITE AOMEA (wavetrain) AT ST
T W g T % S SR Ug A 5
TS = T (cm #) 20T

Options :
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40503639533, 6
40503639534, 2

40503639535, 2

40503639536. 12

Question Number : 10 Question Id : 40503610865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks @

Two isolated conducting s%@eg S, and S5
2 1.0

of radius ;R and —$§1ave 12w C and

—3 pC charges, respectively, and are at a

large distance from each other. They are

now connected by'a conducting wire. A
long time after this i1s done the charges on

S;and S, are respectively :
Options :
40503639537, & pCand 3 pC

40503639538, - weand 6 uC

40503639539, 45 nC on both

40503639540, T 2 nCand —45uC
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Question Number : 10 Question Id : 40503610865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
garershi 9 =9 gU 3 g9 el S, 941 S,
i 2 s T
foer1 et wH: ERaﬂ? ER%,‘T{
12 uC 3R —3 uC AN E | F 7l UF gEL A
a8 o0 WE | Ffe 39 el # Uh g ar
¥ wire faan i 1 Sired F o 99 F 9
S, # S, T AT F A FHEA: B
Options :

40503639537,
&

RN

40503639538, HC -34%%@{

40503639539, +-0 pC AN T

40503630540, + 45 WCR —45C

Question Number : 11 Question Id : 40503610866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the circuit shown in the figure, the total
charge is 750 pC and the voltage across
capacitor Cz is 20 V. Then the charge on

capacitor C, is :

Cy =15 uF =

Options : K\
40503639541, 100 nC (&\@

40503639542, 0 “’C@$

40503639543, 200 KC

40503639544, 090 RC

Question Number : 11 Question Id : 40503610866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o= ¥ femm@ T 9wy § Fa 99 # 99
750 uC ¥ 3R Haifd C, W deedi 20V F
7 feafa | | (capacitor) C, T &=
e

Options : S&\
40503639541, 100 BC Q§*

40503639542, VLGS

40503639543, 2 U HC

40503639544, 090 BC

Question Number : 12 Question Id : 40503610867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Model a torch battery of length I to be
made up of a thin cylindrical bar of radius
‘a’ and a concentric thin cylindrical shell
of radius ‘b’ filled in between with an
electrolyte of resistivity p (see figure). If
the battery is connected to a resistance of
value R, the maximum Joule heating in R
will take place for :

- @Q
I E g\
b -:-; — 1. &
a \Q‘Z}
b N
N
Options :
R= _P_ ( E}
40503639545, 7l _\a)
R=_F ;nf E]
40503639546. 2nl  \a
E = F_}I In[EW
40503639547, mE
R= 2—? In(EW
40503639548. L

Question Number : 12 Question Id : 40503610867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

2/ | WA S Al [ T i U 92l
59 UER 991 "1 T 58 e’ e & T
AATHR B2 GHAE ‘b’ 591 & U SoHHR
e (shell) F A< ¥ AR 576 =19 F =M
p EIGHEED (resistivity) %Wgﬁﬂ:ﬁﬁzﬁ
WeA el (FA3E) | R R I F uF
YA (resistance) H ST ST€0 & 1wy |

sAfera S gt % ford
T E g\
L (§,
: S
VE &
- P
Options :
R— PP
40503639545, 2xl \a)
R= P In[2]
40503639546. 2wl \a)
R = F_}I In[EW
40503639547. wo\a)
R= 2—? In(EW
40503639548, - \a)
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Question Number : 13 Question Id : 40503610868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Magnitude of magnetic field (in SI units)
at the centre of a hexagonal shape coil of

side 10 cm, 50 turns and carrying current

I
I (Ampere) in units of .- is :
an

Options :

IS\E
40503639549. \QQQ

| N

40503639550, 903 Q‘§)
R

25043 §§

40503639551.

40503639552. 500v3

Question Number : 13 Question Id : 40503610868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TH SAER F TH FUSCAl & UH (9w
T 10cm © 3R TAH 50 99 (turns) T |
Ifs 59 [ UHiER O &1 U faga uw =& @

e H I = e
(SI units §) %1 9, [—_{: ¥ gFe | 2
\ T

Options :
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40503639549. S‘E

40503639550, 503

2503

40503639551.

40503639552, 500N3

Question Number : 14 Question Id : 40503610869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single ]@ uestion Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma
An elliptical loop havm@%’ematance R, of
semi major axis a, rm minoraxis b is
placed in a magne%f ield as shown in the
figure. If the loop is rotated about the
x-axis with angular [requency w, the

average power loss in'the loop due to Joule

heating is :
z
¥ <
Y
Options :
wlalb?Ble?
40503639553, 2R
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.’:Tath
40503639554, R

ZaZhEBZME
40503639555, R

40503639556, ZCT0

Question Number : 14 Question Id : 40503610869 -Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Lln&Questlon Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks 4@

HATSFR AFT F TH ?ﬂ@m AHTTE
(semi major) & Eal a Tl Y
(semi minor) HAH a&%ﬁh%ﬂmm
T R B1 5H UF gEwE 49 § fEaEn
T | A x-39 FARL AR 5H o F00E
I T THE 6 A= § 2 et 9o
&ifon | 59 wfed &1 rdq o 2

X <
L)
Options :
R B g
40503639553. 2R
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.’iTElth
40503639554, R

wlalbiBlw?

40503639555, R

40503639556. =

Question Number : 15 Question Id : 40503610870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Lin@uestion Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Mark &{@

A 750 Hz, 20 V (rms) snu@%ﬁs connected
to a resistance of 100 Q'l inductance of
0.1803 H and a capaditance of 10-4F all in
series. The time in which the resistance
(heat capacity 2 J/?C) will"get heated by
10°C. (assume no loss of heat to the
surroundings) is close to :

Options :

40503639557, i8S

40503639558, 242 S

40503639559, 205 S

40503639560, 188
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Question Number : 15 Question Id : 40503610870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

750 Hz U4 20 V (rms) = T &4 51 401 |
T g€ 100 Q F Wiy, 01803 H & UH
TS wE 10 wF 91a & U |59 | S e
T | TE A g T IS SO i et Ara-
I Fieis 1 a9HE 10°C 9 =1 S, ST
BN : (WY 1 AT enfiE 2 J/°C ®)

Options : \Q®
40503639557 S48s N
&
\Q‘Z}
40503639558. 245 s $Q
$

40503639559, 2658

40503639560, 118 s

Question Number : 16 Question Id : 40503610871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic field of a plane

electromagnetic wave is

B =3 x 1078 sin[200 (y + ct)]i T
where c=3 x 10® ms ~ ! is the speed of light.
The corresponding electric field is :

Options :
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E

= 3% 1078 sin [2007 (y +ct)]k V/m

40503639561.

E ——9sin [200m (v + cf]k V/m
40503639562. sin| (y+cy]k V/

E =95in[2007 (y +ct)] k V/m
40503639563, in (y +ch]k V/i

E =—10"®sin [2007 (y + ct)] k V /m
40503639564 4

K\Q

S
Question Number : 16 Qu s@ Id : 40503610871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : N gle Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wr@ Marks: 1

TF A faga-gras®d qe F g
1 B =3 x108&n200m (v + )i T ¥
T&l =3 x 108 ms ! WS 1 7 1 HA F |
Options :

E =3 x107% sin [200m (y +ct)]k V/m
40503639561

E ==9sin [2004 (v + ct L’t m
40503639562. nadd - RS | S

E =9sin [200 (v + ct) L‘u m
40503639563. AN ey
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E =—10"®sin [2007 (y 4 L‘L_]]L;"u-",fm
40503639564.

Question Number : 17 Question Id : 40503610872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, light
of 500 nmis used to produce aninterference
pattern. When the distance between the
slits is 0.05 mm, the angular width
(in degree) of the fringes for\Q on/ the

distance screen is close to: %‘2,
\Q‘Z}
@Q

40503639565, 097 o

Options :

40503639566, 17

40503639567, 0-07°

40503639568, 0-17°

Question Number : 17 Question Id : 40503610872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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7 % UH 5-fof 7@ H 500 nm 1 HH
SURE Y g = 2| afe faftEl & <=
=l A 0.05 mm 2 T F Jrel g & ==
e e
Bt ?

Options :

40503639565, 0-27

40503639566, 17

40503639567 0-07° \§
g\
¥
40503639568, U-17° \Q‘G
@Q
N

Question Number : 18 Question Id : 40503610873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When the wavelength of radiation falling
on a metal is changed from 500 nm to
200 nm, the maximum kinetic energy of the
photoelectrons becomes three times larger.

The work function of the metal is close to :

Options :
40503639569, 0-92 eV

40503639570, 0-61 eV

40503639571, 0-81 eV
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2 o\F
40503639572, 102 €V

Question Number : 18 Question Id : 40503610873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U HIq W USH Al faH R $1 qiesd wE
500 nm H FEAFT 200 nm FHT A %’, Ll fetoe
Fell T E S 2 ﬁﬁﬁaﬁ@m@m

Frer e # | e w%?
Options : (§)
Q

40503639569 0-52¢€V N

N
40503639570, 0-61 eV

r
40503639571, 081 eV

) T

40503639572, 102 eV

Question Number : 19 Question Id : 40503610874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In a radioactive material, fraction of active
material remaining after time t is 9/ 16. The
fraction that was remaining after t/2 is:

Options :
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W

40503639573.

e |

40503639574.

| e

40503639575.

£
40503639576. © Q&
K\Q

P
Question Number : 19 Que{%ﬁh Id : 40503610874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : N&& gle Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wr@ Marks: 1

e LA g2 | ¢ GEF 918 9= gl 9
TeYg AT H IuEgd #iEa T=rd #°1 9/16
YR T /2 THA H 1 g 0ae SR
Terel T i | AW 21T 2

Options :

3
40503639573, 2

W | s

40503639574.

4
40503639575,
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7
40503639576, O

Question Number : 20 Question Id : 40503610875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When a diode is forward biased, it has a
voltage drop of (.5 V. The safe limit of
current through the diode is 10 mA. If a
battery of emf 1.5 V is used in the circuit,
the value of minimum resi_i;\ e to be
connected in series with ti iode so that
the current does not st@ the safe limit
is: @$Q

Options :
40503639577, 20041

40503639578, 100£2

40503639579, 20 £

40503639580. 300 £

Question Number : 20 Question Id : 40503610875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e U AT B FBEE 9EH WAl 6 g
@ THH 0.5 V T favEm @ # 1 2EE
Tfeqd Tad g0 s5H 9 SAfusan faga aw =
T 10 mA B 1 Ifs ush aftag 5§ 1.5 V i 52
&1 TN €, T TS % WY fHe gaad 7E
o1 Aiqars o = foed gftag | == 9t
Y H T | A w7

Options :

40503639577, 20002

40503639578, 100 €2 N
&
§Q§
40503639579. 20 Q Q\QQ}'
S
300 0
40503639580.
Sub-Section Number : 2
Sub-Section Id : 405036756
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 40503610876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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A cricket ball of mass 0.15 kg is thrown
vertically up by a bowling machine so that
it rises to a maximum height of 20 m after
leaving the machine. If the part pushing
the ball applies a constant force F on the
ball and moves horizontally a distance of
0.2 m while launching the ball, the value of
F (in N) is (g =10 ms ~2)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes ®
Answers Type : Range gﬁ\g

Text Areas : PlainText &
Possible Answers : Q\Q(b'

510 5.002 @$

Question Number : 21 Question Id : 40503610876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.15 kg B=THM i Teh {shehe i 115 Uk =i
e o R SeAteR fagn | et ot € | 79l
Y fAFem & 999 9% 20 m AfHTH S
e o || AT | e e e B e IR e e
AT 9 TH T U ) 91 F ol 8 31 98
g 1 et W9 ifas feen § 0.2 m < =en
A F % 97 (N H) 8 (g=10 ms~2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 22 Question Id : 40503610877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A person of 80 kg mass is standing on the

rim of a circular platform of mass 200 kg

rotating about its axis at 5 revolutions per

minute (rpm). The person now starts

moving towards the centre of the platform.

What will be the rotational s in rpm)

of the platform when the@nn reaches

i Q
its centre $Q\

Response Type : Num@
Evaluation Required For SA« Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 22 Question Id : 40503610877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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200 kg B9 % Tk JlHR TIZHH & fFAI
W 80 kg FHM 1 UF A @D 1 T2
IZEH I AY WAl 2 5 F9 F @
€| I8 Afad 379 TISHH % F8 Hi SR Ferdl
&1 9 Al WEwH * ¥ W UgEdl € ql
& FE B |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range ®
Text Areas : PlainText QK\Q
Possible Answers : %2,

N

5 to 5.002 Q
S
N

Question Number : 23 Question Id : 40503610878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A bakelite beaker has wvolume capacity of

500 cc at 30°C. When it is partially filled

with V  volume (at 30°C) of mercury, it is

found that the unfilled volume of the

beaker remains constant as temperature is

I and

varied. If ypeakery=6%10 LA
Y(mercury) — 1.5x10~4°C~1 where v is the
coefficient of volume expansion, then Vm

(in cc) is close to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 23 Question Id : 40503610878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
d%AEe § 99 T SEH F1 30°C W
HAAA S5 500 cc 1 59 599 30°C WV,
AFT F I W A A T IR W e F
AIAM 96 T 53 SiF & @ell |F #l
AT T A § 1 A < F G
6o 1
A THR T[OE (), ﬁ&i\@ G

AT TR FT AET eI TTHEF
Y ¢ = 1510 4‘%1:$ dl (ceH)V
EEm @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 24 Question Id : 40503610879 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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An observer can see through a small hole
on the side of a jar (radius 15 cm) at a point
at height of 15 cm from the bottom (see
figure). The hole is at a height of 45 cm.
When the jar is filled with a liquid up to a
height of 30 cm the same observer can see
the edge at the bottom of the jar. If the
refractive index of the liquid is N /100,

where N is an integer, the value of N is

éﬂe\i | &6
™S e S \Q(b'
by Q

\\‘\
_“\\\ 45 cmy

‘l'iTcrn J
+

. —F

15em

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 24 Question Id : 40503610879 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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TF UTF (observer) Tsh S (=21 15 em)
WA ¥2 9 38 AR o1 0% fag # 9|
Tl 1 IR 1 fr=ei Tdag 9 22 F1 F96
%cm%ﬁmﬁ@ﬁﬁﬁﬁﬁlﬁﬁ%ﬁﬁﬁcm
g1 (fea @) | o9 9R § 30 cm 916 a6
UF w9 eId W W@ € a1 98 Y et
WﬁW{edge]é@W%l afe s 24
= FAYGAH N/100 31 (N quis) 1 N =l

e
% | S
L g\
& 3
& L &
_\H\H m
1 ETcm
4
— —
15 cm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 25 Question Id : 40503610880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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When a long glass capillary tube of radius
0.015 cm is dipped in a liquid, the liquid
rises to a height of 15 cm within it. If the
contact angle between the liquid and glass
to close to 0°, the surface tension of the
liquid, in milliNewton m 1 s
[P (liquiay =900 kgm >, g=10 ms 7]
(Give answer in closest integer)

Response Type : Numeric

Evaluation Required For SA : Yes ®
: Q

Show Word Count : Yes g\

Answers Type : Range &

Text Areas : PlainText Q\Q(b'

Possible Answers : @

510 5.002

Question Number : 25 Question Id : 40503610880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
0.015cm & | 519 59 U 79 § 41 S @l
99 29 15 cm ST 0 =¢ Wa1 ¢ | s 5
HR H9 % =19 H 9 I T 0° 8l
%4 &1 7% @9, milliNewtonm ~1 #, T
27 [Pz F1 TTE=900 kgrrll 3, 55':\1'0
ms~2] (I fAFwzaw qoi® # T)
I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 t0 5.002

Chemistry
Section Id : 405036395
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : Q® 25
Number of Questions to be atten@d : 25
Section Marks : ,§’ 100
Display Number Panel : Q\Q Yes
Group All Questions : \§§ Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036757
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
It is true that:
Options :
A zero order reaction is a single step

40503639586, reaction

A zero order reaction is a multistc-p

40503639587, reaction
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A first order reaction is alwa}-'s a

40503639588, Single step reaction

A second order reaction is alwa}-'s a

40503639589 multistep reaction

Question Number : 26 Question Id : 40503610881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AT T+ :
T e \\@
Options : @
40503639586, 1l @‘\

N
40503639587, AL |

U g Fife i AfufsE giE v v
40503639588, TG SHIHAT T

40503630589, TETRA SATHIHA ¥

Question Number : 27 Question Id : 40503610882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Of the species, NO,NO™, NO2* and NO—,

the one with minimum bond strength is :
Options :
40503639590. NO

40503639591, NO?

40503639592, NO

40503639593, NO™

$
&
>
Question Number : 27 Queiiﬁ'l Id : 40503610882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : N gle Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wr& Marks : 1

T9S NO, NOt, NO2F aarNO~ 1, =8
T TagET ey O eaad 2, 2
Options :

40503639590, NO

40503639591, NO?

40503639592, NO

40503639593, NO™

Question Number : 28 Question Id : 40503610883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
Henry’s constant (in kbar) for four gases

a, B, v and & in water at 298 K is given
below :

|« |8 | v |0
Ky | 50 | 2 [2x10-5] 05

(density of water =103 kg m 3 at 298 K)
This table implies that :
Options :
a has the highesk\\@sﬂit}f in water
40503639504, 212 BIven pre%@e
\Q‘Zr

solubilé@@ ~ at 306 K is lower than

40503639595, at298

The pressure of a 55.5 molal solution

40503639596, ©f vis Tbar

The pressure of a 55.5molal solution

40503639597, ©f 9 1s 250 bar

Question Number : 28 Question Id : 40503610883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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298 K W &eA H =1 19l o, B,y 991 5 & forg
ﬁﬁ%(kbarﬁ)ﬁﬁﬁ@%:

« | B | v |5
50 | 2 |2x10-5 05

Ky

(298 K 9 91 =1 T==10% kg m~3)

Rl & A e ®
Options :

ﬁiﬁ B SHE W a =+ U H q GEEIEE]
40503639594, ST €|

~
v T FeAvnar 308 K & g |
2931(1:1‘@93%%

$
v % T 555 faeaq 1 549 1
40503639596, T €

40503639595.

& % T 55.5 AT a9 &1 214 250
40503639597, T E!

Question Number : 29 Question Id : 40503610884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Let CN aCl and CBaEU_; be the conductances
(in 5) measured for saturated aqueous
solutions of NaCl and BaSO,, respectively,

at a temperature T.
Which of the following is false ?
Options :

G o atapiven T
40503639598,  Nadl BaSO4 498

Ca.cn (Ts) = Ca.c forT.>T
20503639599, —Bas04 (T2) > Craso,, (Ty) for Tr > T
S
Crnaar (Tp) > CN%‘@H forF5% T,
N
O
Ionic m %es ofions from both

40503639601, Salts intyease with T

40503639600.

Question Number : 29 Question Id : 40503610884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ife 99 T 9, NaCl 991 BaSO, &% Wy« Sieiid
faerm & fore =t ¢ =esand (S #) C,
T Cagp, B A FE1 H A 1 91 7Tt @2
Options : o

i 30 o AT AW T
40503639598,  NaCl BaSOy4

Cpasoy (T2) > Cpago, (Ty), T,> Ty =
40503639599, 1%
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140503639600, “Nac1 (T2) > Cracr (T1) T> T, & fag
A T A s F st

Tfaefieram T 3 WY =2d 2

40503639601.

Question Number : 30 Question Id : 40503610885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An acidic buffer is obtained on mixing :
Options : Q®
100 mL of 0.1 P&)&&fl and 200 mL of

40503639602, 1M Na%@
S
Q
100 mLof 0.1 M HCI and 200 mL of

0.1 M CH,CO0Na
40503639603. *

100 mLE"of 0.1 M CH,COOH and
40503639604 200 mL of 0.1 M NaOH
100 mL of 0.1 M CHSCDDH and

40503639605, 100 mL of 0.1 M NaOH

Question Number : 30 Question Id : 40503610885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
UF AT T A (9§ AT 2 e
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Options :

0.1 M HCl %1100 mL @91 0.1 M NaCl
40503639602, 1 200mL

0.1 M HCI %1 100 mL d91 0.1 M

40503639603, CH3COONa FT 200 mL

0.1 M CH,COOH =T 100 mL a9
40503639604, V-1 M NaOH =T 200 mL

0.1 M CHHCODQ\@ 100" mb e
0.1 M NaOH @%n sl

%
Q
QQ

Question Number : 31 Question Id : 40503610886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

40503639605.

T}-'ndaﬂ effect is observed when :

Options :
The diameter of dispersed particles
is much smaller than the wavelength
40503639606, ! light used:
The diameter of dispersed particles
is much larger than the wavelength
40503639607, ©f light used
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The diameter of dispersr_-d particles

is similar to the wavelc-ngﬂ‘u of Iight

40503639608, Used-

The refractive index of dispersed
phase is greater than that of the

40503639609 dispersion medium.

Question Number : 31 Question Id : 40503610886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Li@)uestion Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Mark%

ﬁ%’ﬁ'ﬁ%ﬁaﬁf'&?ﬁﬁﬁm\%ﬁg’%ﬁ:
Options : @Q
ugaas:%w%ﬁﬂﬁﬁﬁﬁgamﬁqﬁrw
40503639606, TN 1 SR FgH Tl = |
T T o FiTes i el B qie
40503639607, TN 1 SATH <gd ==l < |
W WY 1 FTe qRferd Fuil %

40503639608, =4 = B WA = |
IETU] HT=AF ] gl H T qree

40503639609, 1 STTATAIF SATEF 3 |

Question Number : 32 Question Id : 40503610887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The atomic number of the element

unnilennium is :
Options :
40503639610, 102

40503639611, 109

40503639612, 108

N

40503639613, 119 &S\\
&

Question Number : SZ@estion 1d : 40503610887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ST T I e
Options :

40503639610. 102

40503639611.

40503639612, 108

40503639613, 119

Question Number : 33 Question Id : 40503610888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the boiling point of H,O is 373 K, the
boiling point of H,S will be :
Options :

40503639614, 1ess than 300 K

40503639615, more than 373 K

40503639616, qualto 373K
$
greater than 32)@\\1( but less than
40503639617. 373K r@
N
@Q
$

Question Number : 33 Question Id : 40503610888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afs H,O & Fa9i® 373 K & a1 H,S &l
FAITF B :

Options :

40503639614, SO0 K H %4

40503639615, -/° K H =

40503639616, 272 K = ==

40503639617, J00 K H =M€ 9% 373 K | ¥
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Question Number : 34 Question Id : 40503610889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a molecule of pyrophosphoric acid, the
number of P-OH, P=0 and P-O-P
bonds/ moiety(ies) respectively are :
Options :
40503639618, & 2and 0

40503639619, > 3and3

2, 4and1 &
\Q‘Z}
Q

N
40503639621, & 2and?

40503639620.

Question Number : 34 Question Id : 40503610889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TEFERIE TEE & AU H P-OH, P=0
a1 P — O — P 3=/ 319 ( 3790 ) =1 g
HHEI: % -

Options :

40503639618, 42 @410

40503639619, 3.3 TH13

2
40503639620. Lama
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4 2
40503639621. e

Question Number : 35 Question Id : 40503610890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Aqua regia is used for dissolving noble
metals (Au, Pt, etc.). The gas evolved in

this process is :

Options : ®
Q
40503639622, 203 g\\
N
NO \Q%
40503639623. @Q
$
40503639624, V2Us

40503639625. N,

Question Number : 35 Question Id : 40503610890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ar=a 9rgsti (Au, Pt, 3fg) &1 e & fau
el IS FE A S W 1 59 WEH A
THereT =Tel 79 ©

Options :

40503639622. N2O;

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

40503639623, NO

40503639624. N,O5

40503639625. N,

Question Number : 36 Question Id : 40503610891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The complex that can show opticabactivity

15 : gQ\Q
Options : (§)

. QY
s-[Fe(N CN
40503639626, S e N\
$
20503630627, S ICrCl(ax) 1™ (ox = oxalate)

trans-[Fe(NH,).(CN
40503639625, Tene-1HafNH,),(CN),|

i 3
40503639629, Lrans-ICr(Clo)(ox)]

Question Number : 36 Question Id : 40503610891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2
Options :
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10503639626, | IFe(NH3),(CN),]

ied 3 it
10503639627, 7 1CrCly(0x)y]> (ox=oxalate)

40503639628, =17~ [Fe(NHy),(CN),]

219 -[Cr(Cl 3
10503639620, P 10 (oxo]

Question Number : 37 Question Id @503610892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Singl e Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Mgg&: 1

The electronic spectr Q@:}f [TGEDO))
shows a single @md peak-with a
maximum at 20,300 cm !~ The crystal
field stabilization energy” (CFSE) of the

complex ion, in k] 'mol 1

(1 k] mol~1=83.7 em~ 1)
Options :
40503639630, 143.5

, 15 :

40503639631, 837
40503639632, 2423

40503639633, 27
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Question Number : 37 Question Id : 40503610892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[Ti(H,0) P * %1 sereirer g u forega
e (FfE W) e wva ¢ fomem 3=
20,300 cm~1 W ¥ HFA # F=a &=
T Fai (CFSE) (k] mol~1 #) 2
(1kJmol =837 cm™ 1}

Options :
40503639630, 145.5
N
40503639631, 837 g\\g
&
2425 \QQ’”
40503639632, <4 Q

@$

40503639633, 27

Question Number : 38 Question Id : 40503610893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Thermal power plants can lead to :
Options :
40503639634, “icid rain

40503639635, Eutrophication

Blue babv syndrome
40503639636. g
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40503639637, OZone layer depletion

Question Number : 38 Question Id : 40503610893 Question Type : MCQ-Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
" F : o B -ﬁq,—(.:’r—tlr\-[ %:

Options :

40503639634, 1T T

T
40503639635, \\Q@
N

S
40503639636, =1 ﬁn@
SIS ‘I%Ql

40503639637.

Question Number : 39 Question Id : 40503610894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the [ nIInwing cnmpnunds

possesses the most acidic h}-‘dmgen ?

Options :

40503639638. HyC-C=C-1
i

40503639639. HC  CHy
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40503639640. H H

40503639641.

Question Number : 39 Question Id : 40503610894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Lifi¢*Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma ]@
T Anfirent & form Hu@ i RSk

¥ S
Options :
40503639638, | 3¢ F= M
1
H,C  CH,
40503639639, - :
N=C_ C=N
e
40503639640. H H
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40503639641.

Question Number : 40 Question Id : 40503610895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Gl}fceml is sr_-parated in soap industries

by : ®
Options : K\Q
Differential clion
4 42.
05036396 \Q

@
40503639643, Fractiotipl distillation

40503639644 Distillation under reduced pressure

40503639645, Steam distillation

Question Number : 40 Question Id : 40503610895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g 32 H frersia 771 | 9 9= g 99+
T T %2

Options :

40503639642, TGl TT=hHTT
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40503639643, o SRS

40503639644, T < T HAHT

40503639645.

Question Number : 41 Question Id : 40503610896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following co unds
caly sl o

produces an optically Lnactn% mpourd

on hydrogenation ? (§’
. W

Options : Q

H%@Ha

40503639646, ~ e

40503639647. “

40503639648.

40503639649.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 41 Question Id : 40503610896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FSSIeHIE W 7§ 4 % @1 AT g7
A AT SeTe AT & 2

Options :

H CHs

40503639646, ~

40503639647. “

40503639648,

r
¥

40503639649.

Question Number : 42 Question Id : 40503610897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The antifertility drug “Novestrol” can react
with :

Options :

40503639650, P2/ water; ZnCly/ HCL; NaOC1
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40503639651, TRAReE SHLLFRICL Feth

40503639652, ZnCl,/HCI; FeCl,; Alcoholic HCN

Alcoholic HCN; NaOCl; ZnCl,/HCI
40503639653. =

Question Number : 42 Question Id : 40503610897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : ]Q®
picEeslc S cosicl h\—-&@\%‘qﬁm EX
TFEMEAE \6§
Options : @Q

Br,, /ety ZnCL,/ HCT ; NaOCl
40503639650. = S

40503639651, D2/ NSO,/ HCL; FeCl,

40503639652, ZnCly/HCL; FeCly; Uehiiies HCN

Ueshleiters HCN: NaOCl; ZnCL,/HCl
40503639653. =

Question Number : 43 Question Id : 40503610898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An organic compound [A], molecular
formula C,,H,,0, was hydrolyzed with
dilute sulphuric acid to give a carboxylic
acid [B] and an alcohol [C]. Oxidation of
[C] with CrO,—-H,50, produced [B].
Which of the following structures are not
possible for [A] ?

Options :

CH,CH,CH,COOCH,CH,CH,CH;
40503639654. BRI B Ll AT

\§® CHy

N\ |
CH;—CH,—CI l@‘)@(f[ 1< CHL CH,CH,

IO
40503639655. Q@ﬂ
$

CHs
I

CH; — CHACN2 OCOCH,CH - CH,CH,
|
40503639656. 55

CH.),— C— COOCH.C(CH
40503630657, ©= B8 2C(CH,);

Question Number : 43 Question Id : 40503610898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TF wrEfaE AfTE [A] fagsr g
CyHyO, & T HeHRF 317 & WY o
AU F T U Friia e 375 [B] a2
TF Uehrerd [C] 3 7 | [C] FCrO, — H,S0,
&A1Y AT [B] 374 T | T weael
H Y & [A]  ford dya TE &2
Options :
CH,CH,CH,COOCH,CH,CH,CH,

40503639654.
CH,
|
CH;— CH, —CI l—@ll—c[ = CT1,CH,

|
CIRY
@Q\Q
N CH;
I
CH3— CH, — CH—0OCOCH,CH - CH,CH;

I
€H,

40503639655.

40503639656
(CH,),— C—COOCH,C(CH,),
40503639657. i &= P

Question Number : 44 Question Id : 40503610899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The mechanism of 5\11 reacton is given

as :
oy D [:__.-
@ S
ReXe SR K-SR ||x i £ BEVIERL
lon pair Solvent
Separated ion
pair

A student writes general characteristics

based on the given mechanism as :

(a) The reaction is favoured by weak
nucleophﬂeq ®

(b) g®would be eaml@hrm&d if the

subslituents ar

(c) The r4e-aat:'u§ S accnmpamed by
racemizatio

(d)  The reaction isfavoured by non-polar
solvents.

Which observations are correct ?

Options :

40503639658, (@) and (b)

40503639659, (P) and (d)

40503639660, (@) (P) and (c)

40503639661, (@) and (c)
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Question Number : 44 Question Id : 40503610899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
S, 1Afafsran =t feranfafy 59 e <F St @
X SR |{@|| oY, Roy+x°
AT IH  foeEE g
PEERCIDE
aH

<t g8 forafafy F snum w v faenddt am=

-+ 50 YR ferae ¥ %Q@

(@) S g TR & T
I NN
| N

(b) R AT WA SR Afs Wiow=d =&
Z

(c)  eAfufeman ot F @y et 2
(d) sl st e g s v
zl
HIA-T Yegu W € ?
Options :
40503639658, (@ T (D)

40503639659, (b) 41 (d)

40503639660, (3)- (b) T4 (c)

40503639661, (& T ()
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Question Number : 45 Question Id : 40503610900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Kjeldahl method of Nitrogen

estimation fails for which of the following
reaction products ?

i
{a] Sy Sn,z" HCl
U &
g\
CN &
N3
I
. i
G
CH,CN
NH,
@ L 5=

Options :

40503639662, (@) and (d)

40503639663, (€) and (d)
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40503639664, (£) and ()

40503639665, (@) (¢) and (d)

Question Number : 45 Question Id : 40503610900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fr=ifera fam safuafan seel F fau Aegem
HAHEH it FHeer fafd TaE Tedl &7

NO, $
| N
(a) [, | Sn/HCl %
CN %
(b) |£K| LiAlFg
CH,CN
() [, | (i) SnCl, + HCI .
== (ii) H,O
~ 2 \aNo
., Ll 2
@ [“:: | HCl
Options :
(a) @ (d)
40503639662.
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40503639663, (©) T4 (d)

40503639664, ©) T (C)

(a), (c) =1 (d)

40503639665.

Sub-Section Number : 2
Sub-Section Id : 405036758
Question Shuffling Allowed : Yes

Question Number : 46 Question Id ; @503610901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Mark ki)

The mole fraction of gluc@’{ﬂil—l 50%) In

an aqueous binary s %inn sy, The

mass percentage @water inwit, to the

nearest integer, 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 46 Question Id : 40503610901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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uF werg fgenant faaga ¥ 91w
(CgH,0p) 1 HIE Wi (Hred 3hee) 0.1
g1 TEH UE F F=AE favaar (e
quiisR), H Bl 15

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

510 5.002 ®

K\Q

Question Number : 47 Questi : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong

An element »§ molar ! mass
0

27x10~2 kg mol rms a cubic unit cell

with r_-dgr_- Iengﬂ‘u 405 P, If its densit}-' is

2.7 x10° kg m~ 3, the-radius of the element

12

15 apprnximatel}f %10 m

(to the nearest integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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UF q@, fI9gs1  wWie  §sgEm
2.7x10°2 kg mol 1 %, 405 pm ELd Eﬁﬂ'ff
F1 UF T Taha Jod o0 21 4fe 59 (T
F1) T 2.7x103 kg m~3 ¥, @ a9 *I
B =y = e x10-12 m
(TreeT™ quis #) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText ®

Possible Answers : K\Q

5 t0 5.002 §Q§
\Q(Z)-

Question Number : 48 stlon Id 40503610903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wr%g Marks :

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

The photoelectric current from Na
(work function, wy=2.3 eV) is stopped by
the output voltage of the cell

Pt(s) H>(g, 1 bar) HCl{ag., pH=1)|AgCl(s),
Ag(s).
The pH of aq. HCI required to stop the

photoelectric current from K(w,=2.25 V),
all other conditions remaining the same,

is  x10"2 (to the nearest
integer).
Given, K\QQ

§

zamﬂ—{}mVE“ <0V
F g@a“f_l

Response Type : Nume%:§
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 48 Question Id : 40503610903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Na (F B wy=2.3 eV) ¥ el g
Pt(s)|H,(g, 1 @MW) HCl(aq., pH=1)| AgCl(s)
Ag(s) T 3o dieesl 51 U & Wt &1 4fe
Tl I @ T, A K(w,=2.25eV) H ¥F
fae@ w1 % T4 & faw HCl =1 pH 2
%102 (=T qoi® #)

ERIRIE
2303 2L _ 006 v EY =022V
F AgCl| Ag|Cl
Response Type : Numeric K\Q

Evaluation Required For SA :
Show Word Count : Yes \Q(b'
Answers Type : Range QQQ
Text Areas : PlainText %
Possible Answers :

51t05.002

Question Number : 49 Question Id : 40503610904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The volume strength of 8.9 M H-,O,

solution calculated at 273 K and 1 atm is
(R=0.0821 L atm

K~ mol~1) (rounded off to the nearest

integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503610904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

273 K @41 1 atm R 9Ref@d 8.9 M H,0,

faeam &1 oA@ad aHed &
(TeFeam quifer H) |

(R=0.0821 L atm K~ ! mol )

Response Type : Numeric
. . : Ve
Evaluation Required For SA : Y&é\
Sk

Show Word Count : Yes
Answers Type : Range Q\QQ}
Text Areas : PlainText @$
Possible Answers :

5t0 5.002

Question Number : 50 Question Id : 40503610905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The total number of mmmhalngenated

organic products in the following

(including stereoisomers) reaction is

A () Ho/Ni/a
(i) Xo /A

F

(Simplest optically
active alkene)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 50 Question Id : 40503610905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

1 safafsran # wweersriga FEftTs el
(Tafem waTeafadl #1 faerst) =1 Fa @&

(i) Hp {\“&@\&
{jj)@}h g
" QQ)'
(U HEAqH a0 HUlE Q\
ki) @
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

510 5.002

Mathematics
Section Id : 405036396
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
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Section Marks : 100

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036759
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503610906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider the two sets :
$

A={m € R : both th Noots'of
x> —(m+1)x+m+4=0 aretral} and

N
B=[-3, 5). §
Which of the fnllf}wgg is not true ?

Options :
40503639671, 4 Y B=R

40503639672, A M B=1-3}

I S I O T
40503639673, >~ B= (=%, =)L @)

40503639674, B~ A=(=3.9)

Question Number : 51 Question Id : 40503610906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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= = ag=a W fFER Fite
A={meR: 22— (m+1)x+m+4=0F 3A
e ariae & |, 991 B=[—3, 5).

Ay asA T Ig T4 &7
Options :
40503639671, 4 Y B=R

40503639672, A M B=1-3}

A-B=(— e, —3)(5, =)

40503639673. S
§<\
B—A=(—3,8%
40503639674.
N
@Q
$

Question Number : 52 Question Id : 40503610907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If « and B are the roots of the equation

12+ px+2=0and — and i are the roots
0

of the equation 2x2+ 2qx+1=0, then

: 3\ \

(u‘ l |{[:‘: EM o 11([3 | l | is equal

T B BN o)

to :
Options :
9 2
P
40503639675.
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40503639676, 4

40503639677. 4

9
40503639678, 4

Question Number : 52 Question Id : @503610907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma@ 1
?Tﬁuﬁin[f. Wa&ﬁ?ﬁz 0 %

gaam — o u%hzquﬂ—

mqﬁr%ﬁ Gl
[n‘ || 5] l\”{f&' I iMIHI{[:’: | —| EESEE
T oml B A B\ Ly
¥
Options :
~0-p%)
40503639675.
~(9+p)

40503639676, 4
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40503639677, 4

9
40503639678, 4

Question Number : 53 Question Id : 40503610908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The value of (2-'P;—3-2P; +4-°P, — ... up
th [ — fis é\ th
to 51™ term)+ (1! —2! + 3! QN to 51

term) is equal to : &
Options : Q\QQ}'
1+ G
40503639679. ( @

40503639680. 1

|
40503639681, 111!

40503639682, 1~ 21(51)!

Question Number : 53 Question Id : 40503610908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(2-P,—3-2P, +4-3P,— ... 519 g H)
+ (11 =21 +31— . 515 92 dF) T HE ==K
e

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Options :

+(52)!
40503639679.

40503639680. 1

: |
40503639681, 111!

40503639682, 1 21(51)!

Question Number : 54 Question Id ; @503610909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Smgle%&irw Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma@

12213$\%
If A=[2x-3 324 4x-5(=
3x—=5 5Sx—8 10aNI¥

Ax¥ +Bx? +Cx+ D, thennB+Cis equal to:
Options :

40503639683, 3

40503639684.

40503639685. 1

40503639686, 2

Question Number : 54 Question Id : 40503610909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
| x-2 2x-3  3x—4

g A= 2x-3 3x—4 4x-5| =
3x—> bHx—8 10x-17

AP +B2 +Cx+D % T B+C = & :

Options :
40503639683,
40503639684, 1
40503639685, 1 s<®®
§§
40503639686 9 NN
Q
S

Question Number : 55 Question Id : 40503610910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory :*No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the number of integral terms in the

; P
expansion of [_32 - 58 ] is exactly 33, then

the least value of n is:

Options :
40503639687, 128

40503639688, 248

40503639689.
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40503639690, 264

Question Number : 55 Question Id : 40503610910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i 1 s il i
afz (32 4 55) F TR § quiRE v F

T 9 33 € 9T n 1 G99 9F 2 ;

Options :
40503639687, 128 Q&
Q
§
40503639688, 248 §§§>
Q‘Z}
256 Q
40503639689, E§§$

40503639690, 264

Question Number : 56 Question Id : 40503610911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the first term of an A.P. is 3 and the sum
of its first 25 terms is equal to the sum of its
next 15 terms, then the common difference
of this A.P. is :
Options :
1

40503639691, ©
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1
40503639692, 4

m5|||_-

40503639693.

1
40503639694, 3

Question Number : 56 Question Id : 40503610911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Li@@uestion Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Markg{ﬁ

afz uF FATER ﬁﬁ&ﬁrﬂu%rﬁ’ﬂ T 99 SHF
e 25 T 1 A, RO 157915 A
¥ TR &, A1 T TR 9 e E
Options :

1

40503639691, ©

1
40503639692, 4

‘-HJ||_-

40503639693.

1
40503639694, 9

Question Number : 57 Question Id : 40503610912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
: ; .

If y>+log,(cos’x)=y, x sl

then :
Options :

40503639695, 1 Oy ()=

20503639696, ¥ (0=
] (] i ®
40503639697, Y OIH Y (O)=1S
S
y'(0)|= Q’%
40503639698. @Q

$

Question Number : 57 Question Id : 40503610912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3] ®

AT 2 +log, (cos’x) =y, x ¢

I~~-*| 3

G

Options :

40503639695, ¥ O+ (0)=3
40503639696, ¥ (V) =0
40503639697, YOI+ (0)=1
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0y =2
40503639698, ¥ (©)

Question Number : 58 Question Id : 40503610913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let [t] denote the greatest integer = t. If
for some A 3 R —{0, 11,

im(l— x+ |x

3 = L, thenL is equal to :

A—x + [x]
Options : Q®
: N
40503639699. &
&

W
1 Q
40503639700, §§$

B2 | =

40503639701.

40503639702, ©

Question Number : 58 Question Id : 40503610913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

M [t] 989" UUF < t 1 <9l g1 49fg
f#91 N e R-{0, 1} &% fag

imll— x+ |x -
1_”1}]_— = L %’,T‘HLWW%’:
UL —x + [x]
Options :
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'j‘
40503639699. ~

40503639700. 1

2 | =

40503639701.

40503639702. 0

Question Number : 59 Question Id

: 40503610914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single IK’% uestion Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marlgz)%

The function, f(x)=(3x
increasing for all x I‘»’@&.ﬁ :
Options : %
14 ]
ralp A

40503639703, ”)

'353, aelR,1s

i

3 —W u (0, =)
40503639704, 15)

40503639705. =

40503639706.
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Question Number : 59 Question Id : 40503610914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e f(x)=(3x—7)x%3, x e R, & F9HA BH
& feru, |l x Frfafaa § & frm & frem 27

Options :
F 14
0o, —
40503639703, 15
. |
14
0, -2 U0, @
40503639704, 15) O
| @
X Y
(— o, D]3§§$§E§,:c|
40503639705. Q§> . 4
Iy "y
(— o, Py O ir:£|
40503639706. L

Question Number : 60 Question Id : 40503610915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

J |-.r x |dx is equal to :
Options :
2
T
40503639707, 2
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¢l

40503639708, 2T

¢

40503639709. T

: 52

40503639710.

Question Number : 60 Question Id : 40503610915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

j|"r x |dx FHHAT K\Q&Q
= &§
Options : \QQ}
7 @Q
LN
40503639707, 2

2
40503639708.

¥
40503639709. T

: 52

40503639710.

Question Number : 61 Question Id : 40503610916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The area (in sq. units) of the region

{{I,y]:UEyEIE-I-l,UEyEI-I-l,

1

2
Options :

1A

x=2}is:

40503639711, ©

23

40503639712, 16
S

79 §<®

16 N
40503639713, S

N
@Q
79

40503639714, 24

Question Number : 61 Question Id : 40503610916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

GE]
{(x,y):0sy=2x*+1,0=y = x+1,

< x < 2} = &Fe (1 sHEE H) ¥

Options :
23
40503639711, 6
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»
6

—_

40503639712.

»
6

——

40503639713.

»
40503639714, 24

Question Number : 62 Question Id : 40503610917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single % uestion Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma
The solution curve DK@Q differential

@Q
equation, {1 |Q 1 4 Jr Jr —Jr

which passes through the point (D, 1), is

Options :
1 + e*
J- =1+ylog, { & W
40503639715, e 0 A
1 +e*
yz I 1=y[lnge{ ZE W I 2}
40503639716. . d J
1+e™*
yz =1 4 ongE{TEW
40503639717. \ d
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2 4 llc'_'t\
Yy 1—y{lage{T I

A8 4

-2
i -

40503639718.

Question Number : 62 Question Id : 40503610917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
* ' . d
HIFHA THHIN(1 + e~ )(1 A f}ﬁ — 2

F A T, A g (0, 1) T AME, & :

Options : ®
p | \\Q
y21 Iylu& I L*,:LW
= [
O 2
40503639715. @Q\ b G
N
_.,_.“*.
yzll=y[mgﬁ{lle IEW
40503639716. \ % oA o
S
40503639717. . ’
I —
yz I 1=yllage{ll+ IEW
: X, B J J

40503639718.

Question Number : 63 Question Id : 40503610918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Let P be a point on the parabola, y.?: 12x
and N be the foot of the perpendicular
drawn from P on the axis of the parabola.
A line is now drawn through the mid-point
M of PN, parallel to its axis which meets

the parabola at Q. If the y-intercept of the
line NQ is % then :

Options :

MQ = =
S
$

40503639719.

40503639720. §

40503639721, TN=3

40503639722, TN=4

Question Number : 63 Question Id : 40503610918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A P Waed, 12=12x W TF fag & 3R
P ¥ Waed & 34 T 2e 0 o= & 91 N
%1 34 PN ¥ 9e7-faig M & U% o2 T
Waed % 34 o TR i S S W
# fag Q W faemt 21 afs T@ NQ #

y-?::iﬁlﬁ?:’%%.?ﬁ:

Options :

1
MQ = =
40503639719. 3

' 1
MQ = — S
40503639720. 4 ‘Z>§

PPN
40503639721. PN= 3§

40503639722, TN=4

Question Number : 64 Question Id : 40503610919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A h}-‘perbola havf_ng the transverse axis of

Iengﬂl.ﬁ has the same foci as that of the
ellipse 312+ 4y>=12, then this hyperbola
does not pass through which of the
following points ?

Options :
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(%)

40503639723.

\
1

1
7
40503639724, V2)

(%]
=3
40503639725. ‘-\{“ V2)
? ™
|'|§r 1 ‘ %Q&Q
40503639726, / §Q§
N

Question Number : 64@1estion Id : 40503610919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T HAfTHEeTd fﬁﬂﬁ?ﬂjﬂ'@l (transverse) HAH
F TS 2 & AR SHE MEHE, g
32 +42 =12 F ACTH= & 9O E1 A
Afqwaer = 4 4 fr fag 4 e T8
ST ?
Options :

(L

40503639723 * d

\
1,

1
N
40503639724, * V2)
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2
40503639725. V2)
I If? . b

y2r !

40503639726. d

Question Number : 65 Question Id : 40503610920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The foot of the perpc-ndicula_r @n from

the point (4, 2, 3) to the I&@joining the
points (1, —2, 3 and {@U ) lies on, the
plane : @
Options :

r 4 QT — DE
40503639727 ¥ TV =S

—y+z=
40503639728, * YT

 —f =T —
40503639729, XY —2z=1

Fy M
40503639730, X ty—z=1

Question Number : 65 Question Id : 40503610920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

fagai (1, —2,3) 3R (1,1, 0) ¥ & I
e 9 TE W9 (4, 2, 3) | =/ T o
=1 U1E T8 gHae WE, 98 T

Options :

40503639727.

) T —
40503639728, ¥ <Yt

40503639729, ¥ Y~ 2z=1

40503639730, X Hy—z=1 O

Question Number : 6 @stion 1d : 40503610921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The lines
o =§i 5] 205 + £ and

Options :

I J = —
40503639731 intersect whenl=1 and m=2

intersect whenlI=2 and m =
40503639732.

[ | —

40503639733, intersect for all values of [ and m
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do not intersect for any values of

40503639734, Land m

Question Number : 66 Question Id : 40503610921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T @
r
o S
_r} = t.l: Jr.I I m|,_£ I ;&i\’
Options : Q\Q%.
N

Fredt e 1 =1 vl th =2
40503639731.

FEA A =2 991 m =

b | =

40503639732.

40503639733, | 41 m % Tl A % foTu el &
| 9 m & Tl o |9 = foo =&

40503639734, 1=

Question Number : 67 Question Id : 40503610922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For the frequency distribution :

Variate (x) : X, X Xy Xgs
Frequency (f): /i fo  fa-fis
where 0 < Xy <Xy Ay < o S Xy = 10 and
15

> fi >0, the standard deviation cannot
1=1

be:
Options :
40503639735. 6
$
4 §<\
40503639736. %2,
&

40503639737, 2 @$

40503639738, |

Question Number : 67 Question Id : 40503610922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FRART 24
=T (x) : X X X3 . Xy
AERAT (f) : h L hehs

ﬁ%‘lﬂfixlﬁxzﬁxaﬂ...fixlE:l{]HﬂT

15
Y f;>0 % & wes fageq, f7 § 4

1=1

FIA-HT &l 2 el ?
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Options :

40503639735.

40503639736.

I~

40503639737.

40503639738, |

Question Number : 68 Question Id :@503610923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single I\i& Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Ma 1

A die is thrown two tim@‘%‘uﬁl the sum of
the scores appearin; @[ 1e die isobserved
to be a multiple of 4. Then the conditional
probability that the score 4 has appeared
atleast once is:

Options :

1
40503639739, 2

WO | =

40503639740.

oo | =

40503639741.

1
40503639742, 4
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Question Number : 68 Question Id : 40503610923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U T < AR e W € a9 9rE WA
TN 1 ANTEA 4 1 UF O & | A
4 % %9 9 9 UF 91 3T F Gfa= qigema
g

Options :

40503639739. E §K\Q®
S

S

$

O | =

40503639740.

oo | =

40503639741.

e |

40503639742.

Question Number : 69 Question Id : 40503610924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i
.14 il
2 sin_' = + sin
5

".

5 ~116)
1= 4 sin 1_—| is
5)

equal to :

Options :
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ok

40503639743.

A
40503639744, 2

7
40503639745, 4

a0
40503639746, 2

S
S\
D

Question Number : 69 Qu Id : 40503610924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : ingle Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X .
14 [P £ )
29T Isin 12 + gim™ M5+ sin 1_—|
4 5 13 J
T B
Options :
S
40503639743, 4
3
iy
40503639744. =
7

40503639745, 4
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ar
40503639746, 2

Question Number : 70 Question Id : 40503610925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The proposition p—~(p A ~q) is

oquivalc-nt o :

Options :
40503639747, 4
$
S\\
40503639748, P ¥ 74) S

40503639749, CP) VP

40503639750, © P 774

Question Number : 70 Question Id : 40503610925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HI= (proposition) 'p —=~(p ~ ~q) =
U fFaF e e ?

Options :

40503639747 1

40503639748, PV )
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40503639749, P) v 4

oy A |
40503639750. P) 1
Sub-Section Number : 2
Sub-Section Id : 405036760
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503610926 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks :

If{llwé_ﬁllq 1@1'@1\1

\1—1) \t—1)
%

then the greatest Cﬂﬂ‘l[@ divisor of the

least values of m an@?& iSeq (/4"

Response Type : Numerlc

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 71 Question Id : 40503610926 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

: -5 %4

Irfa{llw :{1”1 =1%,{IH,IIEN]
Wt \E—1)

@ m T n & FAqH JH] F HeaH IHAS

Ao |

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503610927 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

1

x .
Let A= L ], x € R and A4=[at.?.]. If

ay = 109, then a,, 18 equal to %Q@__

Response Type : Numeric &%
Evaluation Required For w(bYes
Show Word Count : Y@@
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503610927 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

| x 1
HM f"x={1 ”]J x e R @& At=[a,] ?I

afE a,, =109 B, @ ay, TR & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
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Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503610928 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The value of

1 1 1 |

—t — 4+ — + .. IOw

{ :
. _ isequal to
(0.16)%B2s(3 * 7 * 3 q

s

Response Type : Numeric
Evaluation Required For SA : Yes
$

Show Word Count : Yes K\
Answers Type : Range @
Text Areas : PlainText QO

W
S

Possible Answers :

51t05.002

Question Number : 73 Question Id : 40503610928 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
. . :

IRt g g | TR

F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 74 Question Id : 40503610929 Question Type : SA Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 0

: Ffl x? x2
I 1““4—8{1 COS— — COS —

I—*HEI k 3 4
;. 23|
x x 5k

I CﬂﬁTCGSI r =277, then the value of
B /)

kis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

$

Text Areas : PlainText Q,g\
Possible Answers : Qrb%
5 t0 5.002 N\

@$

Question Number : 74 Question Id : 40503610929 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

limj o o X
'Erra' ‘L—‘{}EJ__B LI’.‘II.‘&T LL‘I'.":T

2 2

2 2y L
| cnal—cnal—% = 2_1“, 9 k &1 AA B
g 4 j

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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5 to0 5.002

Question Number : 75 Question Id : 40503610930 Question Type : SA Display Question Number : Yes
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